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QUESTION 1

When vCloud Automation Center provisions a multi-machine service with NAT, routed, or private networking, what is
automatically deployed for that service?

A. NSX Logical Distributed Firewall
B. NSX Logical Router Control VM
C. NSX Controller Cluster

D. NSX Edge Gateway

Correct Answer: D

QUESTION 2

When a vSphere administrator attempts to remediate a host with Update Manager, the host is unable to enter
maintenance mode.

Which condition is likely preventing the host from entering maintenance mode?
A. A virtual machine on the host has a removable device connected.

B. A virtual machine on the host is configured to use Fault Tolerance.

C. A virtual machine is powered off and cannot be migrated to another host.

D. A virtual machine is configured with a local .vswp file.

Correct Answer: A

QUESTION 3

A vSphere administrator needs to increase the capacity of an existing Storage Distributed Resource Scheduler (SDRS)
datastore cluster. The storage administrator has provisioned two new NFS datastores to be added to the cluster.

The vSphere administrator receives an error message, preventing the administrator from adding the newly provisioned
datastores to the cluster.

What is the likely reason that the action failed?

A. There are virtual machines running on the datastores being added to the cluster.

B. The datastores in the SDRS cluster are VMFS datastores.

C. The datastores in the existing cluster have hardware acceleration enabled and the new datastores do not.
D. The SDRS cluster has not been placed into maintenance mode.

Correct Answer: B
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QUESTION 4

A customer needs to select an appropriate Path Selection Policy (PSP) for their storage array. There is no requirement
for a preferred path. The policy should not select a new path unless the current one fails.

Which PSP meets the requirement?
A. Fixed

B. Round Robin

C. Most Recently Used

D. Asymmetric Logical Unit Access

Correct Answer: C

QUESTION 5

You have been tasked to customize the provisioning workflow of a specific blueprint. What would you need to edit to
achieve this?

A. Skill
B. Stub
C. DEM
D. Agent

Correct Answer: B
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